1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29

30

BILL	NIO	C 4	4 4	20	00
DILL	NU.		4-1	Ih-	41.3

SPECIAL ORDINA	NCE NO.	S-
----------------	---------	----

AN ORDINANCE approving CONSTRUCTION CONTRACT - LENOX AVE-FAIRFAX AVE SEWER SEPARATION-PHASE II - RES./W.O.#75801 between API CONSTRUCTION CORP and the City of Fort Wayne, Indiana, in connection with the Board of Public Works.

NOW, THEREFORE, BE IT ORDAINED BY THE COMMON COUNCIL OF THE CITY OF FORT WAYNE, INDIANA:

SECTION 1. That the CONSTRUCTION CONTRACT - LENOX AVE-FAIRFAX AVE SEWER SEPARATION-PHASE II - RES./W.O.#75801 by and between API CONSTRUCTION CORP and the City of Fort Wayne, Indiana, in connection with the Board of Public Works, is hereby ratified, and affirmed and approved in all respects, respectfully for:

All labor, insurance, material, equipment, tools, power, transportation, miscellaneous equipment, etc., necessary for storm sewer project consists of approximately 2500 linear feet of 36" storm sewer and 160 linear feet of 8" sanitary sewer along Fairfield Avenue, McClellan Street, and Lenox Avenue. Storm inlets currently connected to the combination sewer will be tied into the new storm system. Water mains will be lowered to avoid conflict with the proposed sewer:

involving a total cost of SEVEN HUNDRED SIXTY-TWO THOUSAND, TWO HUNDRED ELEVEN AND 85/100 DOLLARS - (\$762,211.85). A copy of said Contract is on file with the Office of the City Clerk and made available for public inspection, according to law.

1	SECTION 2. That this Ordinance shall be in full force and effect
2	from and after its passage and any and all necessary approval by the Mayor.
3	
4	
5	
6	Council Member
7	ADDDOVED AS TO FORM
8	APPROVED AS TO FORM AND LEGALITY
9	
10	Carol Helton, City Attorney
11	Caron Helion, Oily Allomey
12	
13	
14	
15	
16	
17	
18	
19	
20	
21	
22	
23	
24	
25	
26	
27	

Interoffice Memo

Date:

May 28, 2014

To:

Common Council Members

From:

Michael Kiester, Manager, City Utilities Engineering / ESS

RE:

Lenox Ave-Fairfax Ave Sewer Separation-Phase II

Res./W.O. #75810

Council District #5

The contractor shall furnish all labor, insurance, equipment, materials and power for the completion of the project: "Lenox Ave-Fairfax Ave Sewer Separation-Phase II" as follows: This proposed storm sewer project consists of approximately 2500 linear feet of 36" storm sewer and 160 linear feet of 8" sanitary sewer along Fairfield Avenue, McClellan Street, and Lenox Avenue. Storm inlets currently connected to the combination sewer will be tied into the new storm system. Water mains will be lowered to avoid conflict with the proposed sewer.

<u>Implications of not being approved:</u> This separation project is part of the Consent Decree requirements to reduce the amount of combined sewer overflow entering our rivers. Partial sewer separation will reduce the amount of stormwater entering the combined sewer system by constructing a new stormwater system to convey stormwater directly to the St. Marys River. By removing stormwater runoff from the existing combined sewer in the neighborhood, this will result in fewer combined sewer overflows.

<u>If Prior Approval is being Requested, Justify:</u> We are requesting suspension of the rules and passage in one evening to expedite the contract approval so that API Construction can order materials and begin construction immediately to keep their crews from having downtime as they complete another project for the City.

This project was advertised to contractors on May 2, 2014, May 9, 2014 in the Journal Gazette and the News Sentinel and May 7, 2014 in Frost Illustrated, Inc.

The contract for Resolution # 75810 awarded to API Constructions Corp for \$762,211.85 was the lowest most responsive bidder of 5 bidders and 39% below the Engineer's estimate of \$1,234,745.00. The second lowest bidder was \$185,035.15 above API Construction Corp's bid.

The cost of said project funded by Sewer Utility.

Council Introduction/Passage Date: June 10, 2014

CC:

BOW

Matthew Wirtz Diane Brown

Construction Manager

File

AGREEMENT BETWEEN OWNER AND CONTRACTOR ON THE BASIS OF A STIPULATED PRICE

Resolution 75810 Work Order 75810

THIS AGREEMENT is by and between the <u>Board of Public Works of the City of Fort Wayne</u>, <u>Indiana</u> (hereinafter called Owner) and **API Construction** Corp (hereinafter called Contractor).

Owner and Contractor, in consideration of the mutual covenants hereinafter set forth, agree as follows:

ARTICLE 1 - WORK

1.01 Contractor shall complete all Work as specified or indicated in the Contract Documents. The Work is generally described as follows:

This proposed storm sewer project consists of approximately 2500 linear feet of 36" storm sewer and 160 linear feet of 8" sanitary sewer along Fairfield Avenue, McClellan Street, and Lenox Avenue. Storm inlets currently connected to the combination sewer will be tied into the new storm system. Water mains will be lowered to avoid conflict with the proposed sewer.

ARTICLE 2 - THE PROJECT

2.01 The Project for which the Work under the Contract Documents may be the whole or only a part is generally described as follows:

Lenox Ave. - Fairfax Ave. Sewer Separation - Phase II

ARTICLE 3 - ENGINEER

3.01 The Project has been designed by **VS Engineering**, which is to act as Owner's representative, assume all duties and responsibilities, and have the rights and authority assigned to Engineer in the Contract Documents in connection with the completion of the Work in accordance with the Contract Documents. Owner will confirm to Contractor prior to issuance of Notice to Proceed as to who will serve as Engineer.

ARTICLE 4 – CONTRACT TIMES

- 4.01 Time of the Essence
 - A. All time limits for Milestones, if any, Substantial Completion, and completion and readiness for final payment as stated in the Contract Documents are of the essence of the Contract.

4.02 Days to Achieve Substantial Completion and Final Payment

- A. The Contractor shall complete the following activities of Work by the Milestone dates indicated. These Milestones are days after the date when the Contract Times commence to run as provided in Paragraph 2.03 of the General Conditions. Only one Project Area shall be constructed at a time.
 - Milestone 1: All potholes shown on the plans shall be completed and submitted to the Owner and Engineer. All storm and sanitary pipe east of the intersection of Lenox and Harrison through the intersection of Lenox and Calhoun (Structures 44-46 and S2-S4) shall be installed, tested, and fully operational. Concrete sidewalks, curbs, curb ramps shall be fully restored, and asphalt streets shall be completed including final surface. All Work shall be completed 45 days after the Notice To Proceed.
 - 2. Milestone 2: All storm and sanitary pipe from the intersection of Buell and Fairfax through the intersection of Hoagland and Fairfax (to the start of the chip and seal roadway) shall be installed, tested, and fully operational. Concrete sidewalks, curbs, curb ramps shall be fully restored, and asphalt streets shall be completed including final surface. All Work shall be completed 60 days after the Notice To Proceed.
- B. The Work will be substantially completed within **150** days after the date when the Contract Times commence to run as provided in Paragraph 2.03 of the General Conditions, and completed and ready for final payment in accordance with Paragraph 14.07 of the General Conditions by May 31, 2015.
- C. Definitions of Substantial Completion for this Work shall consist of the point in time when all Work has been installed, tested, and fully operational. Exception to this will be final asphalt surface not described in the Milestones. The areas without surface shall be brought to grade with binder. Mill and resurfacing, sidewalks, curbs, and curb ramps not described in the Milestones and grass seeding shall be finished by Final Completion.

4.03 Liquidated Damages

A. Contractor and Owner recognize that time is of the essence as stated in Paragraph 4.01 above and that Owner will suffer financial loss if the Work is not completed within the times specified in Paragraph 4.02 above, plus any extensions thereof allowed in accordance with Article 12 of the General Conditions. The parties also recognize the delays, expense, and difficulties involved in proving in a legal or arbitration proceeding the actual loss suffered by Owner if the Work is not completed on time. Accordingly, instead of requiring any such proof, Owner and Contractor agree that as liquidated damages for delay (but not as a penalty), Contractor shall pay Owner \$2,500.00 for each day that expires after the time specified in Paragraph 4.02 above for Milestone 1, Milestone 2, and Substantial Completion until the Work is substantially complete. After Substantial Completion, if Contractor shall neglect, refuse, or fail to complete the remaining Work within the Contract Time or any proper extension thereof granted by Owner, Contractor shall pay Owner \$1,500.00 for each day that expires after the time specified in

Paragraph 4.02 above for completion and readiness for final payment until the Work is completed and ready for final payment.

ARTICLE 5 - CONTRACT PRICE

- 5.01 Owner shall pay Contractor for completion of the Work in accordance with the Contract Documents an amount in current funds equal to the sum of the amounts determined pursuant to Paragraphs 5.01.A, 5.01.B, and 5.01.C below:
 - A. Not Used
 - B. For all Unit Price Work, an amount equal to the sum of the established unit price for each separately identified item of Unit Price Work times the actual quantity of that item:

See Article 5 (itemized Bid Schedule) of the Bid Form (00 41 00-3 – 00 41 00-4)

Seven Hundred Sixty-Two Thousand, Two Hundred Eleven Dollars and Eighty-Five Cents

(\$762,211.85)

The Bid prices for Unit Price Work set forth as of the Effective Date of the Agreement are based on estimated quantities. As provided in Paragraph 11.03 of the General Conditions, estimated quantities are not guaranteed, and determinations of actual quantities and classifications are to be made by Engineer as provided in Paragraph 9.07 of the General Conditions.

C. Not Used.

ARTICLE 6 – PAYMENT PROCEDURES

- 6.01 Submittal and Processing of Payments
 - A. Contractor shall submit Applications for Payment in accordance with Article 14 of the General Conditions. Applications for Payment will be processed by Engineer as provided in the General Conditions.
- 6.02 Progress Payments; Retainage
 - A. Owner shall make progress payments on account of the Contract Price on the basis of Contractor's Applications for Payment within 30 days of receipt during performance of the Work as provided in Paragraph 6.02.A.1 below. All such payments will be measured by the schedule of values established as provided in Paragraph 2.07.A of the General Conditions (and in the case of Unit Price Work based on the number of units completed) or, in the event there is no schedule of values, as provided in the General Requirements.
 - 1. Prior to Substantial Completion, progress payments will be made in an amount equal to the percentage indicated below but, in each case, less the aggregate of payments previously

Article 5 - Basis of Bid Lenox Ave, Fairfax Ave, Sewer Separation Phase II

5.01 NOTE: Bidder may complete the following Bid Schedule.

Bidder will complete the Work in accordance with the Contract Documents for the following prioc(s):

1 00 95 00-A Mobilization and Dernobilization (Not to Exceed 554) 1 LS 6950.00 36950.7 2 00 95 00-C Work Allowance (City Determined) 1 LS \$50,000.00 \$50,000.00 \$50,000.00 \$10,000.00	ITEN H	I WORK	DESCRIPTION	ESTIMATED QUANTITY	UNIT	UNIT. PRICE	AMOUNT	To a constant
2			Mobilization and Demobilization (Not to Exceed 5%)	1	LS		36950.	Ъо
3 00 95 00-C Utility Pole Bracking Allowance (Chy Determined) 1 LS \$10,000.00 \$10,00	2	00 95 00 _* B		1		and the second second second second	\$50,000.00	
5 00 95 00-13 Remove & Reset Fence 1 LS 275,00 275,0 6 00 95 00-14 Pothole Existing Utility 4 BA 300,00 1200, 7 00 95 00-15 Oravel Drive Restoration 35 SY 2,50 87, 8 00 95 00-14 Existing Water Main (24*D.1.) Potholing 10 EA 375,00 3750, 9 00 95 00-1 Existing Water Main (24*D.1.) Support 1 LS 1000,00 1000, 10 00 95 00-1 Existing Water Main (24*D.1.) Support 1 LS 300,000,00 330,000,00 10 00 95 00-1 Existing Water Main (24*D.1.) Support 1 LS 300,000,00 300,000,00 10 10 15 26-A Maintenance and Protection of Traffic 1 LS 2000,00 2000, 12 01 57 13-A Camporary Brosion and Sodiment Control 1 LS 2000,00 2000, 13 01 71 16.13-A Video Documentation of Conditions 1 LS 950,00 950, 14 01 78 39-A Project Record Documents 1 LS 2000,00 2000, 15 05 56 00-A 24* Studing Maintole Casting 3 EA 220,00 3300, 16 05 56 00-B 24* Storm Maintole Casting 15 EA 220,00 3300, 17 05 56 00-C 24* Bechive Casting 1 EA 220,00 220, 18 05 56 00-B 2* X2* Curb and Gutter Casting 15 EA 300,00 2700, 19 05 56 00-B 2* X2* Curb and Gutter Casting 15 EA 300,00 2700, 20 05 56 00-B 2* X2* Curb and Gutter Casting 2 EA 100,00 200, 20 05 56 00-B 2* X2* Curb and Gutter Casting 2 EA 100,00 200, 20 13 10 005-A Special Eackfil, No. 53773 3000 CY 17,00 4250, 20 13 11 00-A Casting 1 ES 100,00 1000, 20 23 11 100-B Remove Structure (Maintole Casting 1 ES 50,00 1300, 20 21 11 00-B Remove Structure (Maintole Casting 1 ES 500,00 1300, 20 21 11 00-B Remove Structure (Maintole Casting 1 ES 500,00 1300, 20 21 11 00-B Remove Structure (Maintole Casting 1 EA 500,00 500,00 20 21 11 10-B Remove Structure (Maintole Casting 1 EA 500,00 500,00 20 21 11 10-B Remove Structure (Maintole	08 455688 NESO	00 95 00-C		1	LS	Secure Secure Secure Secure Secure Secure		
5	(A)	00 95 00-D	The state of the s	1	EA	200 200 100 200 100 200	2009-14-00-15-15-15-15-15-15-15-15-15-15-15-15-15-	ďΩ
6 00 95 00-Ir Pollolo Existing Utility 4 BA 300.00 1200. 7 00 95 00-Ir Gravel Drive Restoration 35 SY 2,50 87. 8 00 95 00-I Existing Water Main (24°D.L) Politoling 10 EA 375.00 370.00 300.00 100.00 100.00 100.00 100.00 100.00 100.00 100.00 100.00 100.00 100.00 100.00 8010.00 200.00 8010.00 100.00 8010.00 8010.00 100.00 8010.00 8010.00 100.00 8010.00 100.00 8010.00 100.00 8010.00 100.00 8010.00 100.00 100.00 100.00 100.00 100.00 100.00 100.00 100.00 100.00 100.00 100.00 100.00	5	00 95 00-B	Remove & Reset Pence	1			THE RESIDENCE OF THE PARTY OF T	1000000
10 09 50 0-1	6	00 95 00-₽		4	BA			0.0000000000000000000000000000000000000
6 00 95 00-H Existing Water Main (24"D.I.) Poincling 10 EA 375.00 3750.0 9 00 95 00-H Bakiting Water Main (24"D.I.) Support 1 1.8 1000.00 1000.0 1000.0 1000.0 1000.0 1000.0 1000.0 1000.0 1000.0 1000.0 1000.0 1000.0 1000.0 1000.0 1000.0 1000.0 80.100.0 80.100.0 80.100.0 80.100.0 80.100.0 2000.0 11 1.8 80.100.0 80.100.0 80.100.0 2000.0 12 10.17 1.6 1.8 80.100.0 2000.0 1.0 1.1 1.8 80.100.0 80.000.0 1.0 1.1 1.8 950.0 950.0 1.0 1.1 1.8 950.0 950.0 1.0	7	00 95 00-0	Gravel Drive Restoration	35	SY	the state of the second state of the second	A CONTRACT OF THE PARTY OF THE	4.00
9 00 95 00-1 Existing Water Main (24" D.1.) Support	8	00 95 00-H	Existing Water Main (24" D.I.) Potholing	10	EA			
11	9	00 95 00-1	Existing Water Main (24" D.I.) Support	1	LS			10000
12	10	00 95 00-J	Bxisting Water Line Restraining Allowance (City Determined)	1	LS	\$30,000,00	\$30,000.00	
13	11	01 55 26-A	Maintenance and Protection of Traffic	1	LS	8010.00	8010.	þo
14 01 78 39-A Project Record Documents 1 LS 2000.00 2000.00 15 05 56 00-A 24" Sanitary Manhole Casting 3 EA 220.00 3600.10 16 05 56 00-B 24" Storm Manhole Casting 15 EA 220.00 3300.00 17 05 56 00-C 24" Bechive Casting 1 EA 220.00 220.00 18 05 56 00-D 2 X2 Alley Casting 6 EA 450.00 2700.00 19 05 56 00-B 2 X 2" Curb and Gutter Casting 15 EA 300.00 4500.00 20 05 56 00-B 2 X 2" Curb and Gutter Casting 2 EA 100.00 200.00 20 05 56 00-B Sanitary Sower Cleanout Casting 2 EA 100.00 200.00 21 31 00 05-A Special Backfill, No. 53773 3000 CY 17.00 51000.00 22 31 00 05-B Excavation of Unsutiable Material (Undistributed) 250 CY 10.00 2500.00 23 31 00 05-C Additional Select Fill for Unsuitable Material (Undistributed) 250 CY 230.00 14950.00 24 31 00 05-D Flowable Fill 65 CY 230.00 14950.00 25 31 11 00-B Remove Structure (Manhole or Inkt) 26 EA 50.00 300.00 26 31 11 00-B Remove Structure (Manhole or Inkt) 26 EA 50.00 500.00 29 32 12 16-A Pavement, Asphalt Patching, Residential (4.5" Binder) 375 SY 8.00 7000.00 30 32 12 16-B Pavement, Asphalt Patching, Collector (4.5" Binder) 520 SY 2.50 6000.00 34 32 12 16-B Asphalt Surface Overlay, 1-12" 2400 SY 2.50 6000.00 34 32 12 16-F Surface Milling, 1-12" 2400 SY 2.50 6000.00 35 32 12 16-F Surface Milling, 1-12" 2400 SY 2.50 6000.00 36 32 12 16-F Surface Milling, 1-12" 2400 SY 2.50 6000.00 37 38 32 12 16-F Surface Milling, 1-12" 2400 SY 2.50 6000.00 38 32 12 16-F Surface Milling, 1-12" 2400 SY 2.50 6000.00 39 32 12 16-F Surface Milling, 1-12" 2400 SY 2.50 6000.00 30 32 12 16-F Surface Milling, 1-12" 2400 SY 2.50 6000.00 30 30 20 20 20 20 20 20	12	01 57 13-A	Temporary Brosion and Sediment Control	1	LS	2000.00	2000.	00
14 01 78 39-A Project Record Documents 1 LS 2000.00 2000.00 15 05 56 00-A 24" Sanitary Manhole Casting 3 EA 220.00 3600.10 16 05 56 00-B 24" Storm Manhole Casting 15 EA 220.00 3300.00 17 05 56 00-C 24" Bechive Casting 1 EA 220.00 220.00 18 05 56 00-D 2 X2 Alley Casting 6 EA 450.00 2700.00 19 05 56 00-B 2 X 2" Curb and Gutter Casting 15 EA 300.00 4500.00 20 05 56 00-B 2 X 2" Curb and Gutter Casting 2 EA 100.00 200.00 20 05 56 00-B Sanitary Sower Cleanout Casting 2 EA 100.00 200.00 21 31 00 05-A Special Backfill, No. 53773 3000 CY 17.00 51000.00 22 31 00 05-B Excavation of Unsutiable Material (Undistributed) 250 CY 10.00 2500.00 23 31 00 05-C Additional Select Fill for Unsuitable Material (Undistributed) 250 CY 230.00 14950.00 24 31 00 05-D Flowable Fill 65 CY 230.00 14950.00 25 31 11 00-B Remove Structure (Manhole or Inkt) 26 EA 50.00 300.00 26 31 11 00-B Remove Structure (Manhole or Inkt) 26 EA 50.00 500.00 29 32 12 16-A Pavement, Asphalt Patching, Residential (4.5" Binder) 375 SY 8.00 7000.00 30 32 12 16-B Pavement, Asphalt Patching, Collector (4.5" Binder) 520 SY 2.50 6000.00 34 32 12 16-B Asphalt Surface Overlay, 1-12" 2400 SY 2.50 6000.00 34 32 12 16-F Surface Milling, 1-12" 2400 SY 2.50 6000.00 35 32 12 16-F Surface Milling, 1-12" 2400 SY 2.50 6000.00 36 32 12 16-F Surface Milling, 1-12" 2400 SY 2.50 6000.00 37 38 32 12 16-F Surface Milling, 1-12" 2400 SY 2.50 6000.00 38 32 12 16-F Surface Milling, 1-12" 2400 SY 2.50 6000.00 39 32 12 16-F Surface Milling, 1-12" 2400 SY 2.50 6000.00 30 32 12 16-F Surface Milling, 1-12" 2400 SY 2.50 6000.00 30 30 20 20 20 20 20 20	13	01 71 16.13-A	Video Documentation of Conditions	1	LS	950.00	950.	00
15	14	01 78 39-A	Project Record Documents	1	LS	2000.00	The state of the s	100000000000000000000000000000000000000
15	15	05 56 00-A	24" Sanitary Manhole Casting	3	EA	prediction and property and	150-000-000-000-000-000-000-000-000-000-	2000
18	16	05 56 00-B	24° Storm Manhole Casting	15	EA			
18	17	05 56 00-C	24" Bechive Casting		BA	220.00	220.	00
20	18	05 56 00-D	2º X 2º Alloy Casting	6	BA	450.00	1.0000000000000000000000000000000000000	Contract Contract
21 31 00 05-A Special Backfill, No. 53/73 3000 CY 17.00 51000.00	19	05 56 00-E	2' X 2' Curb and Gutter Casting	15	BA	300.00	4500.	00
21 31 00 05-A Special Backfill, No. 53/73 3000 CY 17.00 51000.00	20	05 56 00-F	Sanitary Sewer Cleanout Casting	2	BA	100.00	200.	00
23 31 00 05-C Additional Select Fill for Unsuitable Material (Undistributed) 250 CY 17.00 4250.00 24 31 00 05-D Flowable Fill 65 CY 230.00 14950.00 25 31 11 00-A Clearing & Grubbing 1 LS 1000.00 1000.00 26 31 11 00-B Remove Structure (Manhole or Inkt) 26 EA 50.00 1300.00 27 31 11 00-C Remove Pipe 155 LF 5.00 775.00 28 31 11 00-D Abandon Manhole 1 EA 500.00 500.00 29 32 12 16-A Pavement, Asphalt Patching, Residential (4,5" Binder) 715 SY 11.00 7865.00 30 32 12 16-B Pavement, Asphalt Patching, Residential (3,0" Binder) 875 SY 8.00 7000.00 31 32 12 16-C Pavement, Asphalt Patching, Collector (4,5" Binder) 520 SY 11.00 5720.00 32 32 12 16-B Asphalt Surface Overlay, 1-1/2" 2400 SY 6.50 15600.00 34 32 12 16-F Surface Milling, 1-1/2" 2400 SY 2.50 6000.00 35 35 35 35 35 35 35	21	31 00 05-A	Special Backfill, No. 53/73	3000	CY	William Company Company Co. Co.	51000.	00
24 31 00 05-D Flowable Fill 65 CY 230.00 14950.00 25 31 11 00-A Clearing & Grubbing 1 LS 1000.00 1000.00 26 31 11 00-B Remove Structure (Manhole or Inlet) 26 EA 50.00 1300.00 27 31 11 00-C Remove Pipe 155 LF 5.00 775.00 28 31 11 00-D Abandon Manhole 1 EA 500.00 500.00 29 32 12 16-A Pavement, Asphalt Patching, Residential (4,5" Binder) 715 SY 11.00 7865.00 30 32 12 16-B Pavement, Asphalt Patching, Residential (3,0" Binder) 875 SY 8.00 7000.00 31 32 12 16-C Pavement, Asphalt Patching, Collector (4,5" Binder) 520 SY 11.00 5720.00 32 32 12 16-B Pavement, Asphalt Patching, Arterial (4.5" Binder on 5" Base) 20 SY 20.00 400.00 33 32 12 16-B Asphalt Surface Overlay, 1-1/2" 2400 SY 2.50 6000.00 34 32 12 16-F Surface Milling, 1-1/2" 2400 SY 2.50 6000.00 35 36 37 37 37 37 37 37 37	\$27541655	31 00 05-B	Excavation of Unsuitable Material (Undistributed)	250	CY		The state of the s	200
25 31 11 00-A Clearing & Grubbing 1 LS 1000.00 1000.00 1000.00 26 31 11 00-B Remove Structure (Manhole or Inlet) 26 EA 50.00 1300.00 27 31 11 00-C Remove Pipe 155 LF 5.00 775.00 28 31 11 00-D Abandon Manhole 1 EA 500.00 500.00 29 32 12 16-A Pavement, Asphalt Patching, Residential (4.5" Binder) 715 SY 11.00 7865.00 30 32 12 16-B Pavement, Asphalt Patching, Residential (3.0" Binder) 875 SY 8.00 7000.00 31 32 12 16-C Pavement, Asphalt Patching, Collector (4.5" Binder) 520 SY 11.00 5720.00 32 32 12 16-D Pavement, Asphalt Patching, Arterial (4.5" Binder on 5" Base) 20 SY 20.00 400.00 33 32 12 16-B Asphalt Surface Overlay, 1-1/2" 2400 SY 2.50 6000.00 34 32 12 16-F Surface Milling, 1-1/2" 2400 SY 2.50 6000.00	23	31 00 05-C	Additional Select Fill for Unsuitable Material (Undistributed)	250	CY	17.00	4250.	00
26 31 11 00-B Remove Structure (Manhole or Inlet) 26 EA 50.00 1300.0 27 31 11 00-C Remove Pipe 155 LF 5.00 775.0 28 31 11 00-D Abandon Manhole 1 EA 500.00 500.0 29 32 12 16-A Pavement, Asphalt Patching, Residential (4.5" Binder) 715 SY 11.00 7865.0 30 32 12 16-B Pavement, Asphalt Patching, Residential (3.0" Binder) 875 SY 8.00 7000.0 31 32 12 16-C Pavement, Asphalt Patching, Collector (4.5" Binder) 520 SY 11.00 5720.0 32 32 12 16-D Pavement, Asphalt Patching, Arterial (4.5" Binder on 5" Base) 20 SY 20.00 400.0 33 32 12 16-B Asphalt Surface Overlay, 1-1/2" 2400 SY 6.50 15600.0 34 32 12 16-F Surface Milling, 1-1/2" 2400 SY 2.50 6000.0	24	31 00 05-D	Flowable Fill	65	CY	230.00	14950.	00
27 31 11 00-C Remove Pipe 155 LF 5.00 775.0 28 31 11 00-D Abandon Manhole 1 EA 500.00 500.0 29 32 12 16-A Pavement, Asphalt Patching, Residential (4.5" Binder) 715 SY 11.00 7865.0 30 32 12 16-B Pavement, Asphalt Patching, Residential (3.0" Binder) 875 SY 8.00 7000.0 31 32 12 16-C Pavement, Asphalt Patching, Collector (4.5" Binder) 520 SY 11.00 5720.0 32 32 12 16-D Pavement, Asphalt Patching, Arterial (4.5" Binder on 5" Base) 20 SY 20.00 400.0 33 32 12 16-B Asphalt Surface Overlay, 1-1/2" 2400 SY 6.50 15600.0 34 32 12 16-F Surface Milling, 1-1/2" 2400 SY 2.50 6000.0	25	31 11 00-A	Clearing & Grubbing	1	LS	1000.00	1000.	00
28 31 11 00-D Abandon Mantrole 1 EA 500.00 500.0 29 32 12 16-A Pavement, Asphalt Patching, Residential (4.5" Binder) 715 SY 11.00 7865.0 30 32 12 16-B Pavement, Asphalt Patching, Residential (3.0" Binder) 875 SY 8.00 7000.0 31 32 12 16-C Pavement, Asphalt Patching, Collector (4.5" Binder) 520 SY 11.00 5720.0 32 32 12 16-D Pavement, Asphalt Patching, Arterial (4.5" Binder on 5" Base) 20 SY 20.00 400.0 33 32 12 16-B Asphalt Surface Overlay, 1-1/2" 2400 SY 6.50 15600.0 34 32 12 16-F Surface Milling, 1-1/2" 2400 SY 2.50 6000.0	26	31 11 00-B	Remove Structure (Manhole or Inlet)	26	EA	50.00	1300.	00
29 32 12 16-A Pavement, Asphalt Patching, Residential (4.5" Binder) 715 SY 11.00 7865.0 30 32 12 16-B Pavement, Asphalt Patching, Residential (3.0" Binder) 875 SY 8.00 7000.0 31 32 12 16-C Pavement, Asphalt Patching, Collector (4.5" Binder) 520 SY 11.00 5720.0 32 32 12 16-D Pavement, Asphalt Patching, Arterial (4.5" Binder on 5" Base) 20 SY 20.00 400.0 33 32 12 16-B Asphalt Surface Overlay, 1-1/2" 2400 SY 6.50 15600.0 34 32 12 16-F Surface Milling, 1-1/2" 2400 SY 2.50 6000.0		31 11 00-C	Remove Pipe	155	LP	5.00	775.) 0
29 32 12 16-A Pavement, Asphalt Patching, Residential (4,5" Binder) 715 SY 11.00 7865.0 30 32 12 16-B Pavement, Asphalt Patching, Residential (3,0" Binder) 875 SY 8.00 7000.0 31 32 12 16-C Pavement, Asphalt Patching, Collector (4,5" Binder) 520 SY 11.00 5720.0 32 32 12 16-D Pavement, Asphalt Patching, Arterial (4.5" Binder on 5" Base) 20 SY 20.00 400.0 33 32 12 16-B Asphalt Surface Overlay, 1-1/2" 2400 SY 6.50 15600.0 34 32 12 16-F Surface Milling, 1-1/2" 2400 SY 2.50 6000.0	8535665865556	31 11 00-D	Abandon Manhole	1	EA	500.00	500.)0
31 32 12 16-C Pavement, Asphalt Patching, Collector (4.5" Binder) 520 SY 11.00 5720.0 32 32 12 16-D Pavement, Asphalt Patching, Arterial (4.5" Binder on 5" Base) 20 SY 20.00 400.0 33 32 12 16-B Asphalt Surface Overlay, 1-1/2" 2400 SY 6.50 15600.0 34 32 12 16-F Surface Milling, 1-1/2" 2400 SY 2.50 6000.0	SERVICE COST	32 12 16-A	Payament, Asphalt Patching, Residential (4,5" Binder)	715	SY	11.00	7865.	ე0
32 32 12 16-D Pavement, Asphalt Patching, Arterial (4.5"Binder on 5"Base) 20 SY 20.00 400.0 33 32 12 16-B Asphalt Surface Overlay, 1-1/2" 2400 SY 6.50 15600.0 34 32 12 16-F Surface Milling, 1-1/2" 2400 SY 2.50 6000.0	30	32 12 16-B	Pavement, Asphalt Patching, Residential (3.0" Binder)	875	SY	8.00	7000.)0
33 32 12 16-B Asphalt Surface Overlay, 1-1/2" 2400 SY 6.50 15600.0 34 32 12 16-F Surface Milling, 1-1/2" 2400 SY 2.50 6000.0	31	32 12 16-C	Pavement, Asphalt Patching, Collector (4.5" Binder)	520	SY	11.00	5720.)0
34 32 12 16-F Surface Milling, 1-1/2" 2400 SY 2.50 6000, 0	32	32 12 16-D	Pavement, Asphalt Patching, Arterial (4.5" Binder on 5" Base)	20	and the second second second	20.00	400.)0
	33	32 12 16-E	Asphalt Surface Overlay, 1-1/2"	2400	111111111111111111111111111111111111111			
	5000455.0000006	32 12 16-F	Surface Milling, 1-1/2"	2400	SY	2.50		
	35	32 12 43-A	Gravelpave2	160	SY	Action to the State of the State of Sta		2744972
36 32 13 00-A 7"PGCP Reconstruction (Residential) 525 SY 39.90 20947. 5	36	32 13 00-A	7" PGCP Reconstruction (Residential)	525	SY	39.90	20947.	j0
37 32 16 00-A Curb Reconstruction, Type II-A 190 LF 8.45 1605.	37	32 16 00-A	Curb Reconstruction, Type II-A	190	LF	8.45	1605.5	i 0
38 32 16 00-B Curb Reconstruction, Type II-B 728 LF 16 . 10 11720 . 80	38	32 16 00-B	Curb Reconstruction, Type II-B	728	LF	16.10	11720.8	10
39 32 16 00-C Curb Reconstruction, Type III 20 LF 28.50 570.0	39	32 16 00-C	Curb Reconstruction, Type III	20	LP	28,50		
40 32 16 00-D Concrete Sidewalk Reconstruction (4 in) 45 SY 47.00 2115.00	40	32 16 00-D	Concrete Sidewalk Reconstruction (4 in)	45	SY	47.00	2115.	10

41	32 16 00-B	Curbface Sidewalk Reconstruction (4 in)	45	SY	61.85	2783	.] ₂
42	32 16 00-F	Wingwalk Sidewalk Reconstruction (6 in)	190	SY	58.00	11020	.0
43	32 16 00÷G	ADA Ramps (All Types)	11	EA	695.00	7645	Jo.
44	32 16 00-H	Alley Approach Reconstruction	19	SY	81.70	1552]3
45	32 16 00-I	Surface Mounted Detectable Panel	18	EA	225.00	4050	īlo
46	32 92 00-A	Lawns and Grasses	1	LS	6000.00	6000	.lo
47	33 05 34.13-A	12" Concrete Non-Pressure Utility Piping, Class III	595	LF	45.00	26775	.lc
48	33 05 34,13-B	15" Concrete Non-Pressure Utility Piping, Class III	20	Tb	50.00	1000	ī.c
49	33 05 34.13-C	36" Concrete Non-Pressure Utility Piping, Class III	1926	LP	125.00	240750	.lc
50	33 05 37,13-A	8"PVC-SDR 35	157	LF	45.00	7065	.lc
-51	33 05 37,13-B	8" Perforated PVC-SDR 35	224	LF	45.00	10080	(
52	33 05 37.16-A	6" Pressure Utility Piping, Water Main Pipe PVC C905, Open Cut Installation	147	LF	45.00	6615	lc
53	33 11 00-A	Water Main Connection (6"x6" Tapping Sleeve & Valve by WMS)	3	EA	500.00	1500	Пc
54	33 11 00-B	3/4"Test Riser (Temporary)	6	BA	100.00	600	Jc
55	33 11 00-C	2" Temporary Blow-off Assembly	3	BA	550.00		
56	33 11 00-D	Cut & Plug (Water Main Abandonment)		BA	475.00	3325	
37	33 12 00-A	Water Service Adjustment	4	BA	340.00	1360	
58	33 12 00-B	D.I. 6"45-Deg D.I. Bend, Restrained Joint	12	BA	360.00	- 4320	
59	33 12 00-C	D.1. 6"90-Deg D.1. Bend, Restrained Joint	3	BA .	375.00	1125	
60	33 12 00-D	6"X 6"D.1, Tee, Restrained Joint	3	EA	445.00	- 1335	10
61	33 12 00-B	6" RSW Gate Valve and Box	3	EA	930.00	. 2790	1(
62	33 39 13-A	48 ⁶ Standard Sanitary Manhole	2	EA	2600.00	- 5200	
63	33 39 13-B	60" Standard Sanitary Manhole	ı y	EA	4600.0d	4600	
64	33 39 13-C	Sanitary Sewer Cleanout	2	BA	500.00	- 1000	1
65	33 39 13-D	Sanitary Sewer Internal Drop	1	BA	800.00	800	
A County Commercial Co.	33 44 13-A	Pipe Plug (Bulkhead)	29	EA	100.0d	2900	7. 12.
Control of the control of	33 44 13-B	Inlet Structure - Existing, Connect Proposed Pipe	12	BA	50.00	600	1.72
	33 44 13-C	Precast 30" Round Inlet	11	BA	975.00	10725	
and the second of	33 44 13-D	Precast 33" Round Inlet	2	EA	1000.00	2000	
	33 44 13-B	2' X 2' liilet	- 8	BA	950.00	7600	
Allery Conserve of	and the second of the second o	Pour Invert (Existing Structure)	2	BA	100.00	200	l (
	TOTAL STREET,	Standard 48" Manholo	i	EA	2500.00	2500	
Organical Control	COLORECTOR PROPERTY PROPERTY COLOR	48" Doghouse Manhole	1	BA	2500.00	2500	1 6 9
4.5		Standard 60" Manholo	6	EA	3500.00	21000	
	On the World Strategic Str	Standard 72 ¹¹ Manhole	7	EA	4500.00	31500	0.00
19	e de la companya de	TOTAL BID (1997)	West.	131 - 151	\$762,21	1 or	l

Unit prices have been computed in accordance with paragraph 11.03.B of the General Conditions.

Bidder acknowledges that estimated quantities are not guaranteed, and are solely for the purpose of comparison of Bids, and final payment for all Unit Price Bid Items will be based on actual quantities provided, determined as provided in the Contract Documents.

made and less such amounts as Engineer may determine or Owner may withhold, including but not limited to liquidated damages, in accordance with Paragraph 14.02 of the General Conditions.

- a. 95% of Work completed (with the balance being retainage). and
- b. <u>95%</u> of cost of materials and equipment not incorporated in the Work (with the balance being retainage).
- B. Upon Substantial Completion, Owner shall pay an amount sufficient to increase total payments to Contractor to 100 % of the Work completed, less such amounts as Engineer shall determine in accordance with Paragraph 14.02.B.5 of the General Conditions and less 200% of Engineer's estimate of the value of Work to be completed or corrected as shown on the tentative list of items to be completed or corrected attached to the certificate of Substantial Completion.
- C. If the contract is in excess of \$200,000, the contract will be subject to the standard Board of Public Works escrow agreement unless written notice is received from Contractor prior to execution of the Agreement stating that an Escrow Account is not desired. If an Escrow Account is not desired, then the Board of Public Works, in accordance with IC 36-1-12-14, shall hold the retainage and will not pay interest on the amounts of retainage that it holds

6.03 Final Payment

A. Upon final completion and acceptance of the Work in accordance with Paragraph 14.07 of the General Conditions, Owner shall pay the remainder of the Contract Price as recommended by Engineer as provided in said Paragraph 14.07.

ARTICLE 7 – INTEREST

7.01 All moneys not paid when due as provided in Article 14 of the General Conditions shall bear interest at the maximum rate allowed by law at the place of the Project.

ARTICLE 8 – CONTRACTOR'S REPRESENTATIONS

- 8.01 In order to induce Owner to enter into this Agreement, Contractor makes the following representations:
 - A. Contractor has examined and carefully studied the Contract Documents and the other related data identified in the Bidding Documents.
 - B. Contractor has visited the Site and become familiar with and is satisfied as to the general, local, and Site conditions that may affect cost, progress, and performance of the Work.
 - C. Contractor is familiar with and is satisfied as to all federal, state, and local Laws and Regulations that may affect cost, progress, and performance of the Work.

- D. Contractor has carefully studied all: (1) reports of explorations and tests of subsurface conditions at or contiguous to the Site and all drawings of physical conditions relating to existing surface or subsurface structures at the Site (except Underground Facilities), if any, that have been identified in Paragraph SC-4.02 of the Supplementary Conditions as containing reliable "technical data," and (2) reports and drawings of Hazardous Environmental Conditions, if any, at the Site that have been identified in Paragraph SC-4.06 of the Supplementary Conditions as containing reliable "technical data."
- E. Contractor has considered the information known to Contractor; information commonly known to contractors doing business in the locality of the Site; information and observations obtained from visits to the Site; the Contract Documents; and the Site-related reports and drawings identified in the Contract Documents, with respect to the effect of such information, observations, and documents on (1) the cost, progress, and performance of the Work; (2) the means, methods, techniques, sequences, and procedures of construction to be employed by Contractor, including any specific means, methods, techniques, sequences, and procedures of construction expressly required by the Contract Documents; and (3) Contractor's safety precautions and programs.
- F. Based on the information and observations referred to in Paragraph 8.01.E above, Contractor does not consider that further examinations, investigations, explorations, tests, studies, or data are necessary for the performance of the Work at the Contract Price, within the Contract Times, and in accordance with the other terms and conditions of the Contract Documents.
- G. Contractor is aware of the general nature of work to be performed by Owner and others at the Site that relates to the Work as indicated in the Contract Documents.
- H. Contractor has given Engineer written notice of all conflicts, errors, ambiguities, or discrepancies that Contractor has discovered in the Contract Documents, and the written resolution thereof by Engineer is acceptable to Contractor.
- I. The Contract Documents are generally sufficient to indicate and convey understanding of all terms and conditions for performance and furnishing of the Work.
- J. In connection with the performance of Work under this Contract, Contractor agrees to comply with Anti-Discrimination Under Indiana Code Chapter 5-16-6-1 and be bound by Chapter 93.036, of the Code of the City of Fort Wayne, Indiana of 1974, passed by the Common Council of the City of Fort Wayne, Indiana as General Ordinance No. G-34-78 (as amended) on December 12th, 1978. Contractor shall file a Manpower Utilization Report for this project with the Compliance Office within ten (10) days after completion of the construction or upon request of the Office of Compliance.

ARTICLE 9 - CONTRACT DOCUMENTS

9.01 Contents

A. The Contract Documents consist of the following:

1.	This Agreement (pages 00 52 00-1 to 00 52 00-11, inclusive);
2.	Escrow Account Agreement (pages 00 54 43-1 to 00 54 43-3, inclusive);
3.	E-Verify Affidavit (page 00 54 53-1, inclusive);
4.	Performance Bond Form (pages 00 61 13.13-1 to 00 61 13.13-2, inclusive);
5.	Payment Bond Form(pages 00 61 13.16-1 to 00 61 13.16-2, inclusive);
6.	Guaranty Bond Form(pages 00 61 31-1 to 00 61 31-2, inclusive);
7.	General Conditions (pages 00 72 00-1 to 00 72 00-41, inclusive);
8.	Supplementary Conditions (pages 00 73 00-1 to 00 73 00-10, inclusive);
9.	Specifications as listed in the Table of Contents of the Project Manual
10.	Drawings consisting of SY-20560, inclusive, with each sheet bearing the following genera title: Lenox Ave. – Fairfax Ave. Sewer Separation – Phase II;
11.	Addenda (numbers to, inclusive);
12.	Attachments to this Agreement (enumerated as follows);
	a. Contractor's Bid Schedule (page 00 41 00-3 to 00 41 00-4);
	b. Documentation submitted by Contractor prior to Notice of Award (pages to inclusive);
13.	The following which may be delivered or issued on or after the Effective Date of the Agreement and are not attached hereto:
	a. Notice to Proceed (pages to, inclusive).

- B. The documents listed in Paragraph 9.01.A are attached to this Agreement (except as expressly noted otherwise above).
- C. There are no Contract Documents other than those listed above in this Article 9.

b. Work Change Directives.

c. Change Orders.

D. The Contract Documents may only be amended, modified, or supplemented as provided in Paragraph 3.04 of the General Conditions.

ARTICLE 10 – MISCELLANEOUS

10.01 Terms

A. Terms used in this Agreement will have the meanings stated in the General Conditions and the Supplementary Conditions.

10.02 Assignment of Contract

A. No assignment by a party hereto of any rights under or interests in the Contract will be binding on another party hereto without the written consent of the party sought to be bound; and, specifically but without limitation, moneys that may become due and moneys that are due may not be assigned without such consent (except to the extent that the effect of this restriction may be limited by law), and unless specifically stated to the contrary in any written consent to an assignment, no assignment will release or discharge the assignor from any duty or responsibility under the Contract Documents.

10.03 Successors and Assigns

A. Owner and Contractor each binds itself, its partners, successors, assigns, and legal representatives to the other party hereto, its partners, successors, assigns, and legal representatives in respect to all covenants, agreements, and obligations contained in the Contract Documents.

10.04 Severability

A. Any provision or part of the Contract Documents held to be void or unenforceable under any Law or Regulation shall be deemed stricken, and all remaining provisions shall continue to be valid and binding upon Owner and Contractor, who agree that the Contract Documents shall be reformed to replace such stricken provision or part thereof with a valid and enforceable provision that comes as close as possible to expressing the intention of the stricken provision.

10.05 Contractor's Certifications

- A. Contractor certifies that it has not engaged in corrupt, fraudulent, collusive, or coercive practices in competing for or in executing the Contract. For the purposes of this Paragraph 10.05:
 - "corrupt practice" means the offering, giving, receiving, or soliciting of any thing of value likely to influence the action of a public official in the bidding process or in the Contract execution;
 - 2. "fraudulent practice" means an intentional misrepresentation of facts made (a) to influence the bidding process or the execution of the Contract to the detriment of Owner, (b) to establish Bid or Contract prices at artificial non-competitive levels, or (c) to deprive Owner of the benefits of free and open competition;

- "collusive practice" means a scheme or arrangement between two or more Bidders, with or
 without the knowledge of Owner, a purpose of which is to establish Bid prices at artificial,
 non-competitive levels; and
- 4. "cocreive practice" means harming or threatening to harm, directly or indirectly, persons or their property to influence their participation in the bidding process or affect the execution of the Contract.

10.06 Emerging Business Enterprise(EBE) Participation

EBE Retainage Requirements – If the Contractor is in compliance with the provisions of the construction Contract the Owner will make payments for such work performed and completed. Pursuant to Executive Order 90-01 (amended 5-8-06); the Owner will retain five percent (5%) of the Contract Price to ensure compliance with the EBE participation requirements. Upon final inspection and acceptance of the Work, and determination by the Fort Wayne Board of Public Works that the Contractor has made a good faith effort to subcontract ten percent (10%) of the Contract Price to emerging business enterprises, the Contractor will be paid in full.

In the event there is a determination that good faith compliance with these EBE participation requirements has not occurred, appropriate reduction in the final payment pursuant to paragraph 10.06.E will be made.

If the Contract Price is in excess of \$200,000, the contract will be subject to the standard Board of Public Works escrow agreement. However, payments to the Contractor are not to exceed 95% of the total Contract Price until the Owner has verified that the Contractor has made good faith efforts to attain the 10% EBE goal stipulated in here within. Payment of the final 5% of the total Contract Price will be dependent upon acceptance of the Work, in accordance with Paragraph 14.07 of the General Conditions, and good faith efforts to comply with these EBE participation requirements; subject to reduction in the event of non-compliance as provided in paragraph 10.06.E.

- A. Request for Waiver If, at the time final payment application is made, Contractor has not attained the ten percent (10%) EBE goal, Contractor shall file with the final payment application a "Request for Waiver." Said Request for Waiver shall contain a written description of the efforts taken by Contractor to attain the ten percent (10%) EBE goal.
- B. <u>Determination of Waiver Requests</u> The Contract Compliance Department of the City of Fort Wayne shall examine all Requests for Waiver to determine if Contractor's efforts constitute good faith efforts to attain such goal and shall submit recommendations concerning said requests for Waiver for the final determination of the Board of Public Works of the City of Fort Wayne.
- C. <u>Good Faith Efforts</u>. In determining whether or not the Contractor used "good faith" efforts, the following shall be considered:
 - Whether the contract can be subdivided as determined by the Engineer and Administrator of Contract Compliance;

- 2. Availability of certified EBE businesses to participate as subcontractors;
- 3. Non-competitive price quotes received from EBE firms. The Board of Public Works' determination for granting a reduction or waiver of the goal because of higher quotes from EBE firms will be based on factors that include, but are not limited to the following:
 - a. The Engineer's estimate for the work under a specific contract;
 - b. The Contractor's own estimate for the work under the subcontract;
 - c. An average of the valid prices quoted for the subcontract;
 - d. Demonstrated increase in other contract costs as a result of sub-contracting to EBE firm(s).
- 4. Documented measures taken by the Contractor to comply with the EBE participation goal;
- 5. EBE subcontractor failed to fulfill their obligation in regard to the time delivery of goods and/or services. Also in regards to the quality of the goods and/or services set forth in the bid specifications.
- 6. Such other matters as the Board of Public Works deems relevant.
- D. Consequences of Noncompliance In the event the Board of Public Works approves a recommendation that Contractor failed to make good faith efforts at compliance, the Contract Price shall be reduced by the amount calculated as the difference between the EBE participation goal of 10% and the actual participation level met by the Contractor, but in no case shall it be reduced by more than 5%. Said amount shall be added to the City of Fort Wayne EBE Bond Guarantee Fund and Contractor agrees to accept the reduced amount as full payment under the terms of his/her Contract.
- E. <u>Waiver Approved</u> In the event the Board of Public Works determines that a good faith effort to comply with these EBE participation requirements has been made, the Contract Price shall not be reduced, and the balance owing to the Contractor shall be paid in full.

One counterpart has been delivered to Owner, and one counterpart delivered to Contractor. All portions of the Contract Documents have been signed or have been identified by Owner and Contractor or on their behalf. This Agreement will be effective on ______ (which is the Effective Date of the Agreement). CONTRACTOR: OWNER: API CONSTRUCTION CORP CITY OF FORT WAYNE BY:_____ (Name) THOMAS C. HENRY, MAYOR TITLE: DATE: (Date signed by Contractor) Address for giving notices: _____ **BOARD OF PUBLIC WORKS** ROBERT P. KENNEDY, CHAIR BY: MIKE AVILA, MEMBER BY: KUMAR MENON, MEMBER VICTORIA EDWARDS, CLERK DATE: (Date signed by Board)

IN WITNESS WHEREOF, Owner and Contractor have signed this Agreement (Contract/Resolution Number 75810).

EJCDC C-520 Suggested Form of Agreement Between Owner and Contractor for Construction Contract (Stipulated Price) (2007 Edition) - Modified by CUE (Mar. 2012) - (For Use on Non-SRF Funded Projects) 00 52 00-10

ACKNOWLEDGMENT (CONTRACTOR)

STATE OF INDIANA) SS:)	
COUNTY OF)	
BEFORE ME, a Notary Public, in and for s	aid County and State, thisday of
personally appeared the within named	who under penalty of
perjury says that he is the	of and as such duly
authorized to execute the foregoing instrument	t and acknowledged the same as the voluntary act and deed
of for the uses an	d purposes therein set forth.
IN WITNESS WHEREOF, hereunto subscrib	ped my name, affixed my official seal.
	Notary Public
	1,044-7, 1,44-14
	Printed Name of Notary
My Commission Expires:	
Resident of	County
<u>ACKNOWL</u>	EDGMENT (OWNER)
STATE OF INDIANA)	
SS:)	
COUNTY OF ALLEN)	
personally appeared the within named Thomas and Victoria Edwards, by me personally kn respectively the Mayor of the City of Fort Wa Public Works of the City of Fort Wayne, India	d County and State, thisday of, s. C. Henry, Robert Kennedy, Mike Avila, Kumar Menon own, who being by me duly sworn said that they are type, and Chairman, Members, and Clerk of the Board of ana, and that they signed said instrument on behalf of the ty so to do and acknowledge said instrument to be in the and purposes therein set forth.
IN WITNESS WHEREOF, hereunto subscrib	ed my name, affixed my official seal.
	Notary Public
	Printed Name of Notary
My Commission Expires:	Printed Name of Notary

by CUE (Mar. 2012) - (For Use on Non-SRF Funded Projects)

(d bywysys)															
भूक्य व क्यूंग															
	herica Fora Seleptur Serieum Form						X	I	X	1	X		X		X
	Impostal kinamitiva					 	X	 	×	<u> </u>	X		X		- <u>x</u>
	ilystbifl A coitad				†		X		x	<u> </u>	x		X		x
96 8 52	brok				i	 	X	1	X	 	X		X		x
	LoV at	x			<u>† </u>		X		X	†	x		X		x
+	74704400				activities A										NSTI S
5	Sandrd 72" Sloubolt TOTAL AASE 819		Y 3	50'005'85	COTOSTOS S	-	SECTOR S		OFFICE S	ecros/\$ \$	0944119031 \$	OUTSES S	05785878677 # 007948796 #	austus s	
6	Backer (CF Markolt	9	V3	DO,000E,02	ototkit 2	moxic s	groots s	DYDNE'S S	mon's s	omnys s	nitionaling \$	DO'#12'C \$	0771555 \$	OLEXC 2	766 S
	SpokerA (4) bashout SpokerA (4) bashout SpokerA (4)	-	k3	25°300'00	2 (1990)		correct s	1 (A1500)	019917 S		00'00'5' \$	ergizz s	overes s	CONTS S	
	(marsuriz gainida) (most and	ī	¥3	21,500,01	010001 \$		2 2000	-	03705'1 \$		OTTORY S			0.0101 \$	
	PERSON	8	¥3	80'995"25	09/806/6C \$		annet s		CONCA'S S			e0'492'1 S	00°266'4 \$	05°900'6 £	
	tries toward "Of negret tries toward "Ef neared	11	V3	21"160"00 21"100"00	097096'S \$		emerc s		8 1599200		00000°00 S	07544 \$	conces s	60064 S	t s
	hair Structure - Exhibites, Country Proposed Pipe	ξi	13	00'005'15	community \$				09.937 S		0007/9 \$			0150x 1	6 S
	Light Shing (Shahkana Shing)	5č	V3	00'005'ES	\$ 15°205°02 \$ 3°2000'0				BOOKER \$		00/5559 \$		\$ 530610	00'055 5	\$1 \$
	Entre Sona Chross	-	A3	00.0532	\$ \$700000 \$ \$ 1'90000	(070% S	OTDOY \$		\$ 340'06 \$ 340'00		00'009' I	2 1917 00	antiga s	COSTON S	£ 5
	el, Frank Jesiery Hetod;	F	٧3 .	03.035.48	09085 \$	10000FF 5			consess s	momo s	national \$	ers916'7 \$	00°996°7 £	martes s	ş ş
	гг. генира д гений учерен	ž .	¥3	23100700	2 (400000)		•		nonze's s	 	 	5076E'(\$	07965'9 \$	1 1,745,90	£ \$
	F.N. D. Tee, Restrained Avin. 6° RSW Gate Valve and Boy	£	A3	21'#00'00 2236'80	DYON'S S		00000C1 \$		015077 \$		007217G S		CONTESTS \$	2 3/41/0	ž \$
a	D.J. S. 191-Deg D.P. Steal, Rearingly Spirit	ε	Y	व्यक्तक	075271 \$	orsee s	कारा। इ	005CE S	OUSER \$	007055 \$	Orosy'i \$	coruey \$	0019070 \$	retel \$	2
	Most Schrick Adjustered Most Schrick Adjustered And 4* 44-Day DL Beach Mosturian Incident	13	V3	celease		00'09(\$	60702CF \$	07016 A	orocz'e s		court \$	orace s	OVERTY S	\$ (5650) \$ 15000	: :
	Cat & Play (West Main Absolution)		Y3	Oraces			COSTES \$		0035570 2		1	ontroit 1	OFFICE S		
á	Videous No estil compact 3	٤	V3	\$120'00	mreal \$	entres s	PR 06-97 \$	1 172 th	00'90(") 1	0218971 £	torexx s	OFFICE \$	DIVECT S	eriski s	5
	yd, 1es Ren (Iosband) Hais Peis Conomios (g.Re. Isbirō 2001c y Apie pl HM2)	9	V3	00'0515 83'305'03	mmet s		601009 \$ 501005'\$ \$	costs s	03150'I \$		DEGREE S		OTOGET S	9066 2 3000 2	5 5
	6" Straue, Utility Riping, Witer Hote Pipe PNC CPUS, Open Cut leated	298	43	00'045	ternscript s		+	50%5 \$			orrerit s		00/905/k \$	(6:84 5	1 \$
-3	Z. Sujaning SAC-208 33	334	u.	00.882	excert: s	2 1200		100 ft 1500	व्यवस्था इ इरक्षा इ		00'099'5 \$		\$ 19500 \$ \$2500	05% S	ž \$
-1	1. 21.C. 2002.06. Street of Prince Phings Class III	25E 9E61	37	00'55(5	conseque \$				SCHOOLS S		construct s		00000000 \$		51 S
1	داخ (محمده دامه بالمسعد لانظري الايضور (Clear III	AC	31	00,852	070061 \$				00100 2		oraci s		CHIEFT S		: 5
-	(I) County biographic giving report stroom (I)	FGF	n	96°07\$	osiou'si \$	+	DESCRIPT S	177.0	5098/R \$		oration s				* S
	Sarker Mountain Describits Front Level and Graces		\$7 V3	60'600'00\$ 81'00'00	colout's 1		concepts \$		total, 1					0707/LI \$	1 5
٧Ì	enibertusional absorped, yallid	61	A\$	00 555	rusto'i \$				(0'9x1'2' \$			nytt \$	(meth \$	mits s	
	(togy) lik) synny AGA	11	Y3	00/001/15		en \$40 \$	633147 \$		697\$77% \$			0,631,1 2		eminate 2	٤ \$
	Wingsub, Sidow all, Reconstruction (4 int)	120	Y2	20000	moots s	mag s	STORY S	5CM 5	197991 3 579141 5	ever 5	(0121% \$	074 S		00'5% \$ 0746 \$	P1 8
	(risk) axionemental il serobic sensor)	šŧ	£\$	60°0\$\$	overes \$	2 1100	CO25112 S		mistrz s		राज्यक्षी इ	OFEr \$	നര <i>്</i> ട	OC11 \$. s
	The Recommendary Type III	07	វា	00575	ratos s	t \$440 2	1	ster s	nusea s		month 2	07G* \$	01372,00 2 01372,00 2	ore s	5 (1) (3
	Carl Recentration, Type U-8 Carl Recentration, Type U-8	\$51 061	n	00.522		SPY 5	055091 \$		OSTSL'E S			00,75 2	(00)19 \$		\$ 5
4	7 PCCP Reconstruction (Residualis)	SZS	λs	00/515	0050VCZ \$		05.185.05 2	WH9 \$	escence s				coosyor s		
	"Sat-6 semilationed Saregioned	3400	YS	00'\$EZ\$ 05'£\$	cocoons s		00000078 \$		ceroses s		· · · · · · · · · · · · · · · · · · ·		concerns s		LC 5
	Applied Station Oranies, 1-12"	3100	75	60°9\$	CO109/11 \$		00'000'51 \$		OFFICE 5	6551 S			co.cos.oc. #		42 5
	(med "2 so rebril ?? b) teirnes. Arishest delign. Romus?	óč .	λS	00'06\$	(1163F) \$		cator 2			coxct s					
	Paramen, August Partico, Embaria (A.O. Binday) Paramen, August Partico, Collecte (4.5° Binday)	625 523	28	00'00\$ (00'06\$	CONSTANT S		unanut 2 naustit 2		OROINE S	cost s			0000000 S		
	Parental, Aghan Parking, Residents (4.1° Biody).	511	-23	007095	CO 606 Zr \$	1	00 598'A S		\$ 25,466,75		materite \$	Q12C 2	rostost s		
	slodniš schredA	,	13	00.0358	00109 \$		econs s		course \$		0000X1 5		1x755x \$		5
	Remark Streams (Altachole or Index)	951 90	371 V3	60'0515	60.025.1 \$	•		00741 \$ 10767 \$	05012 \$		ensect s		073079 E		
	Caring & Grabbing	~	57	00'030'35	(excop)s \$	6000001 \$		DESCRIPTS S	07:0°F 5		connerse s				
٠.	153 stendi	69	45	00.0528	09050'93 \$		153600		DTONKE S		\$ \$15000				3 1 \$
	(hasefreideld) intented statemed to existence (hasefreideld) kinasik statemed to like mole teneridek	85Z	t)	00'025	cocost 3	tatos \$	97957 \$	COTEL S	CONTRACT S		660055 \$				1 5
	EVV.F. and Jackson Lange.	3000	13	osits	\$ 14,50,60		serectif \$		areoven s		comice s	0170 5	(02:000,392 \$	terir \$	č(5
s	كمكور كمده كالمحول ولاوج		V3	\$3000	001007 \$	696YC \$	00'00" 5	01991 \$	01052,8 2 01052,8 2	69705 S	05005 \$	07255 \$		60921 \$ 879CC \$	- 5
	F.V.F.AB-y Casting.	51	V3 Y3	60,0002	mests s	<u> </u>	1 53000		OFFICE S	(0/524 \$		mitt s	ODIGE'S S	OUT(4 \$	1
ŧ	71, Beckjes Conjus	1	V3	245700	07525 \$	ecrezc \$	onec s	mass \$	OLOX 2	0050Y 5	onses s	mzıt ş			
	54, Stores Hombole Conting 54, Stores Hombole Conting	FI E	Y3	0070575	mossi s	00077 S	67699 S		COSECC S	07(0) \$ 00(4) \$	mosi s	00 (tr) \$	meery s		\$
	Project Record Doctories (24)	-	\$3 \$3	210,000,00	tricoste \$				(70)1 S	CO10551 S	poorst \$	const s	१०७४५ इ	eacockl &	1 5
1	εκούολοκο) Το κούκτουστικού συλή?		\$1	93'000'15	າແນນນ	nt096 5		00.005 \$	COTENS 5	corcorc s	·	musy s	01009 1		5
	allest two controls can broken be a server self to controls and broken can be a server self to controls and broken can be a server self to controls and broken can be a server self to controls and to control	1	51	\$36,000,00	commer s		OLOIQUE 2	65846) \$	032(40) 2 00063(2			075679 \$ 076670 \$			
	sanding Water Residues Ablances	-;	21	60,000,052	00000C S		(01000))5 \$	carecies \$	contental \$	anauce \$	10,000	conaros s	correspec s	uo.mosoc 2	
	south (10 "H) with with spirit	1	\$1	90'000't\$	concolt 5	02003.1 \$	007071 ¢	COURSELED 8		0508, 2 0208, 2	12 (1900)	075%°C \$			5
1	ecimacal print by rei) galested (1.0 °F.) sich nuc'h galeir 3	33	ž¥.	0105£1\$ 0156\$	COTROCAL S	oct t oct t		ous s		orst s		0012 6			5
1	्राम्म विकास क्रिक्ट अस्त्राहरू -	+	V3	00.025.12	comer s	erex \$	somes s	03,852 2	eases &	serces s	areor/7 s	50 CC+ 3			
	age have a necess social build & second		21	60'09F\$	touth t			070CT \$	00'05' \$	601001 S 607051 S	count t	OTHER S			
	Unity fold Bracky Allowance (City Descripted) Resort & Reed Sign	\dashv	\$T .	60,000,012	osrofol, s				(क्स्प्रक्र) \$	COTOMYCI S	connoval s	s policines	ANCOUR! \$	(000000) s	
1	Work Albacons (City Dysomical)	1	12	E0 000'05%	rateories s			onearies s	COTOSTOF \$			2 20100100			
4	neiginas-(I 4% beau2 or not) unimal-tornell bus resinalists/of	nilacut)	10.1 23	point linU po.pos.eez	moistrated masset: \$	note, oc a	coursess: \$	toirt ling womer r	molerated currents &	nienyz 2	eolomoteli eologe 2	your link!	noimatal	ving galf	123
1	dia i	1	1		stranitz3 2*1		toolbyerite		Sujikarəs		andscape Esc,	belanoit	Secaration	zglaud	nt3e1A
ľ			L										. [
	Funding:	3011 S		brod sans		1									
	Manager Bid Date: (Quote Date)	Mike K		· · · · · ·					-						
Ċ	Construction Manager	V IDUV	stut												
	म्हणेला प्रश्निकार महास्थान	Eric Sto	nemni												
	Work Orders:	01357													
	Kesolunion#;	01854													

CITY OF FORT WAYNE, INDIANA

API CONSTRUCTION CORP
(Vendor Name)

VENDOR DISCLOSURE STATEMENT RELATING TO:

- 1. FINANCIAL INTERESTS:
- 2. POTENTIAL CONFLICTS OF INTERESTS:
- 3. CURRENT AND PENDING CONTRACTS OR PROCUREMENTS

Vendors desiring to enter into certain contracts with the City of Fort Wayne, Indiana (the "City") shall disclose their financial interests, potential conflicts of interest and current and pending contract or procurement information as set forth below.

The following disclosures by Vendors are required for all contracts with annual payments by the City in the amount of \$25,000 or more. Vendors shall disclose the financial interests, potential conflicts of interest and other contract and procurement information identified in Sections 1, 2 and 3 below as a prerequisite for consideration of an award of contract by the City. This Disclosure Statement must be completed and submitted together with Vendor's contract, bid, proposal, or offer.

A publicly traded entity may submit its current 10K disclosure filing in satisfaction of the disclosure requirements set forth in Sections 1 and 2 below.

Section 1. Disclosure of Financial Interest in Vendor

a,	apply and provide their names and addresses (attack	l interests in Vendor (or its parent), please check all that h additional pages as necessary):
	(i) Equity ownership exceeding 5%	()
	(ii) Distributable income share exceeding 5%	()
	(iii)Not Applicable (If N/A, go to Section 2)	(<u>X</u>)
•	Name:	Name:
	Address:	Address:
	stock () - partnership interest () u	ner type of equity ownership: sole proprietorship () units (LLC) () other (explain) rcentage of ownership interest in Vendor (or its parent):
Se	ection 2. Disclosure of Potential Conflicts of Int	terest (not applicable for vendors who file a 10K)
col (at		"No" to indicate which, if any, of the following potential e describe using space under applicable subsection years, Yes NoX

a <u>.</u>	b.	(defined h	pyment of "Member of Immediate Family" lerein as: spouse, parent, child or sibling) including al employment for services in the previous 3 years.	Yes	·	N	o.	<u> </u>
	c.	Relationsi City office	hip to Member of immediate Family holding <u>elective</u> currently or in the previous 3 years.	Yes	***************************************	N	o.	<u>X</u>
	d.	Relationsl City office	nip to Member of Immediate Family holding <u>appointly</u> currently or in the the previous 3 years	<u>re</u> Yes	· ——	N	0	X
	_	41 - 5						mat on h 1
	Sec	tion 3.	DISCLOSURE OF OTHER CONTRACT AND PRO	CUREMEN				
٠	a. I	Does Vend	or have <u>current</u> contracts (including leases) with th	e City?	Yes	<u>X</u> N	o	<u> </u>
2) E CONTA	SKO ¹ WING CT /	eference n CSO MODI S ST EAST ANDI ADAM		elow (attac CONTACT NO. 7560 ES. NO.	h additiona PAT DOO! 4 - CONT! 75808 - (al pages a LEY. RACT DA CONTRAC	as ne TE 8 T. DA	cessary). 3/14/13 ATE
	G.	Does Vend	ANDI ADAMS. dor have <u>pending</u> contracts (including leases), bid ip with the City?	s, proposa	ls, or othe Yes	r pending X M	g pro ∧	curement
	•	GE ORDER	PENDING ON EWING ST EAST-WEST STORM SEW ORK FOR PHASE 1 - EWING ST EAST-WEST STO		CONTAC	T ANDI	ADAM	
	If "	Yes", iden date and C	tify each pending matter with descriptive informa ity contact using space below (attach additional page	tion includi es as nece	ng bid or p ssary).	roject nu	mber	, contract
	Sec	tion 4.	CERTIFICATION OF DISCLOSURES		-			
	in o	onnection described	with the disclosures contained in Sections 1, 2 in attached Schedule A:	and 3 Ven	dor hereb	y certifie	s tha	ıt, except
		a.	Vendor (or its parent) has not, within the five (5 Disclosure Statement, been debarred, suspendineligible or voluntarily excluded from any transact government;	ded, propo	osed for (debarmei	nt de	eclared
		b.	No officer or director of Vendor (or its parent) or individual or otherwise criminally or civilly charged by a governmission of any offense;	dual listed Ir vernmental	n Section 1: entity (fede	a. is prese eral, state	ntly li or l	ndicted for local) with
		C.	Vendor (or its parent) has not, within the five (5) ye Statement, had one or more public transactions (federal, s	ar period p state or local)	receding th) terminated	e date of for cause o	this or defa	Disclosure ault;
-		. d	No officer or director of Vendor (or its parent) or indi	vidual listed	d in Section	1a. has,	withi	n the five
	Rev	islon 7.18.	13		Vendo	r Disclosu		tatement 45 52-2
								-

- (5) year period preceding the date of this Disclosure Statement, been convicted, adjudged guilty, or found liable in any criminal or civil action instituted by the City, the federal or state government or any other unit of local government; and
- e. Neither Vendor, nor its parent, nor any affiliated entity of Vendor, or any of their respective officers, directors, or individuals listed in Section 1a. Is barred from contracting with any unit of any federal, state or local government as a result of engaging in or being convicted of: (i) bidrigging; (ii) bid-rotating; or (iii) any similar federal or state offense that contains the same elements as the offense of bid-rigging or bid-rotating
- f. Pursuant to IC 5-22-16.5, Vendor hereby certifies they do NOT provide \$20 million dollars or more in goods or services to the energy sector of Iran. Vendor also certifies it is not a financial institution that extends \$20 million dollars or more in credit that will provide goods or services to the energy sector of Iran or extends \$20 million dollars or more in credit to a person identified on the list as a person engaging in investment activities in Iran.

The disclosures contained Sections 1, 2 and 3 a	and the folegoing Certifications are submitted by
API CONSTRUCTION CORP	. P 0 BOX 191 LAOTTO, IN 46763
(Name of Vendor)	Address 260 ₁ 897-2743
	Telephone k.braun@apiland.net
	E-Mail Address

The individual authorized to sign on behalf of Vendor represents that he/she: (a) is fully informed regarding the matters pertaining to Vendor and its business; (b) has adequate knowledge to make the above representations and disclosures concerning Vendor; and (c) certifies that the foregoing representations and disclosures are true and accurate to the best of his/her knowledge and belief.

Name (Printed) KIRK BRAUN Title PRESIDENT

Signature Date 5/21/14

NOTE: FAILURE TO COMPLETE AND RETURN THIS FORM WITH YOUR DOCUMENTATION MAY RESULT IN YOUR CONTRACT, OFFER, BID OR PROPOSAL BEING DISQUALIFIED FROM CONSIDERATION.